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Cost and Management Accounting

arfer TYTAcHSh T2T (Very Short Questions)
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What do you mean by costing.

ARG § 3719 T THA 2

Define cost accounting.

AT TRETeh o qHTRId foRfeg)
What do you mean by opportunity lost.
‘FTTEX AT | ST 7 FHE 2

What si main object of cost accounting.

AT TR T T I FIT 2

Name any there techniques of costing.

TN JTd A 3T 21 I (TR o 19 arsd|
Write any different between lost and financial accounting.
AT iR U ol @i # T SEmEai 2
What is elements of lost?

AT qedl § ATT T T 52

What do you mean by direct material.

eI AT | ST T THEA 2

What do you by direct expenses.

Yeael A’ © ST T FHAA &2

Write 2 object of material control.

arft fereiaror 6 shr farfer skt AT s

Name any techniques of stock control.

TTeh frreiaron <t shrg farfer a1 =T sraTsa

What is ‘bin card’.

o5 IS T T T 2
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Write formula of maximum stock level.
Hera w21k EHT 1 ¥ faaRa)

Wha is main object of labour control.
o7 For=Tor 26T T e R 2

What do you mean by ‘labour turuouer’.
“s1fireh ST © § ST T THEA 2

What id ‘Incentive plans?

“SROTTeHe ST 3T 3

What is ‘Idle time’.

R TH T T Y 2

Write the name of methods of labour.
syfereR aTareh <At farfer st A ferfam)

What is ‘Indiuidual Bonus plan’s?
Fafcheh G ASHT § T 9T &2

What si mean by ‘Time clock card’.
T 9T IS T AT FT T 2

Define ‘Ouerhead costs’.

3UTTT AT ShT URTHRTG Shifsa)

Name any two methods of abrorption of ouerhead costs.
ARG ARTAT oh STV 6l 31 af fIfer o T SyaTsa|

What do you mean by ‘Machine Hour Rate’?

Y ¢ < H 319 47 GHd 2

Define ‘Ouer absorption and’ under absorption of oversheds.

QAT Sl H YNGR ATTAT T 3T SO ST =T ST hl THATRTT

ifsr)
Write any two names of overheads types.
IR o &I ffeRtor o A faTRag)
What is meaut fo ‘ABC’ concept.
T st ) shl AT § T A 2

What is importance of ABC concept.
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T St €Y ST i weE o

Wtite any two disaduantages of ABC concept.

T St ©t STaemen o & € iy

What do you mean by ‘Job costing methods’.
Ukt ANTATeRd farfer T 37ef T B

What is mean ‘Contract Price’?

ST T | RIT ST 32

Write any two special features of contract costing.
SoRT ARTa o 61 =1 a1 foerard fafay

What do you mean by “Economic Batch Quantity” in Batch costing method?
“fordealt TE WET | ST 1 G 87

Write any there items which will appear in balance sheet on the Asset side with

reference to contract costing.

ShT AT ferir & g 1 i & gvrafy ueg o1 o femrt S et hig & Hel &
Jm fafay)

Name any two methods of accounting of by- Products.
3UTCUTE AR ol RIS &l KRt & 7 srarsa|

Write any two features of Process costing.

SIfShaT STRTA 31 IS &t feorsrde ferfia]

What do you mean by “unrealised profit” in Process Costing?

SITSRAT AT TEToT & 7 St g1 AT ¥ ST0ehT 3T SAT9Y 22
What do you mean by inter process profet?

3T TRAT AT | 3719 3T T 3T &2

What are Joint and sparate costs?

e T i T T 22

What do you mean by operating losting method?

TSrITe TmTa & 3119 3R |werd 82

What is operating losting method?

gfeTer amra frator Gfa = 22

What are the main object of operating losting?
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qiETer @ fetr & Ter ST I 2

Name some institutions where operating costing method is used.

I G o % AT FTRaT et aiteErer @ freteor Gifer st st fora st 2

What is meant by absolute ton-kms?

TIYE eA-foRciTHie & 3119 T 31T 82

What do you know about classification of expense relevant to Power House?

fore e & wraifeed =@ o TSI o S H 319 77 ST 87
Define Budget.

ESCEIRIMIEI I

What is Budget Marnual?

Sote Tt @ 22

Name any four fencional budgets.
[EEHEINERINKESHE R G CES]

State the classification of budget on time basis.

THI o STTUR T TSI T FTRIT FaTgd|

State the normal period of long range and short range budgets.
refeRTefia AT ITCThIA SISTET shl GTHT TR SIS
What is fixed budget?

R aee =T 32

Name two main object of standard costing.

SHTY SR ST o &1 SHE 36 SIdigd|

Define material price variance.

| e forerer o6t aiereT S

Enumerate different types of staudards.

STt ok farfirT SR fimmean

Name variavces rclating to element of cost.

TANTA o el § HEA(-ed Tor=rult o AT Jargd|

Give the formula calculating material cost variance.

BRI ICEE EARC RIS 1

Define staudard costing.
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SHTY TARTT TR@iehe ol IHCATRITI ShIfSTT)

What do you mean by variable overhead cost various.
TiEieIeT ST TRTA fereror & 319 = JHerd 2
Give the formula for calculating labour yiels variauce.
#TH IcTe Fer=reor 1 < o1 g i

What is zero base budgeting?

T[T ST STeA &1 27

What is main Inportance of zero base budgeting.

[ AT SIS shi Y ST T 87

Define Cost-Benfit analysis.

ANTI-ATH TerscrTor skt aftsqifara hifs)

Write any different between Traditional budgeting and zero based budgeting.

LRI SISTE T [ AT SfSfed | shig =L A1fery]
Define Ratio analysis.

T facrTor st afeafiTa s

Give formula of capital employed turuover Retio.
[EERISCRRICIECEERICEAR KIS I

Write ant one assumption of Ratio analysis.

AT TrTeToT 3T RIS Teh W=y feAfay)

What do you mean by cash flow analysis.

Uehg YATE TISIToT o6 STTSRT T 19 T THE 2

Give 4 Sources of cash flow analysis.

TG TR o IR T %l Fd1sy

Give four examples of cash flow from operating actreties.

qRETAHTCHe: Tohe JaTE & ohig I 3e1=L0T SIfTu)

What do you mean by marginal costing?
HHT AT i@ieR ¥ 319 7 Hed &2
Write any two advantages of margeninal costing.

T AT TRgieh o ohig &l TH feifay)

What do you Know about break-even point?
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g foreeg foimg @ 3179 o1 wHEd 82

What is the meaning of margin of safety?

TR EHT | T TR 22

Give the formula for calculating margin of safety in percentage.
L& AT 3 IRTOHT ST # s o6 g g1 s

State the menaing of profit-volumn ratio.

FHYEH WA ST HT AT I3

Write different between variable lost and fixed lost.

TR TRTd o e AT 7 1= fafa)

What is meant of cost estimation for Decision making.

froferm &q e frafor & s 2|

TITcHeh T4 (Short Questions)

1-

What is meant by cost accounting? Explin the various methods of ascertainment of

cost.
AN SRETeh & 3119 T THd 82 AT JTd o ohl T aht qemsal

What are object of cost accounting? Differentiate between finanicial accounting

and cost acconting.

ANTd @R o 38 471 =2 fafvar d@l ue Snra orgh | 1T Sargd|

Give the different techniques of costing and explain them.
anTa frerfror i fafi=r aferfrt sarga 3t SR aaemea)

What do you mean by installation of costing system Discuss the necesity of

installing a costing system in an organisation.

AN AET Ugfd O AT T GHIAd 27 Teh TS | 39 Ugfd shl TATIAT shl HATThdT T
TRy ST

Explain the advantages and object of cost accounting.

AN TR oh 38T Ua ATY ohT HIATH H 9 ShifTy)

Explain in short notes of Nature and scope of cost accountancy.
AT TRATSTE Sl Thid Ta &1 HieH o 9Hesy)

What do you mean by material control? Explain A-B-C analysis for material

control.

gt =T & 3119 T gHed 22 S e it S fosersTor Fisir T 82
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Write the different between Bin card and store ledger? With example.
fort 1€ S Tt @raT S8t H R =R (TR, 38TeX0T o §T|
What is labour turu ouer? What are different methods to calculatt it?

o7 foremTa O SR 319 22 38 FTd R ohl shi-ahie ©f fafermt 22

Time wage rate is Rs 30 per hour, standard time for job 6 Hours, time taken for its

complrtion 4 Hours. On the basis of there facts ascertaeir the amount of bourn and
total wages under Haslsey plan it paid (i) at 30% of time saned (ii) at 50% of time
saned.

T aiesfie 2T 30 . Wi 9ueT, T U i Y01 i 8 SHIT §E 6 UL, ATEdoeh
TIh GHT 4 90| T ALl o AN W e AISHT & S=qiid a9 shl TN T4 Fed
uTifer s1a IS Jfe g (1) SR T " HT 5 30% (i) SO T 99T H 50%
ERISINIR

A refrigerator manfactures purchase 1600 units of certain component from M His

annual usage is 1600 units, The order placing cost is Rs 100 per order and the cost
of carryhing one for unit for year is Rs 8 calulate economic order quaulty.

Teh Chiset HTaT forelt &g sl 1600 $HTSAT “TH” | 35 LT & 3AeRT AT STHIT
1600 SHTZAT T B JTICY 3 hl ANTA 100 & Tid AT &, TAT Teh 991 dh Teh SIS h
TUEY W 8§ & 7Y BId 2 firdewet 3f1ew wr shi ufemoEy shifsg

Calculate labour turuouer rate and equivalent annual rate under different methods
from following date collected from the persoreral. Department of factory for month
of sep,07.

Us Shadl o e fovmr @ grafted frawr 2007 A & d@wer @ i dfeat gro

No. of Workers on Ist sep 950

No. of Workers on 30" sep 1050

No. of Workers left the factory in sep 10
No. of Workers discharged in sep 30

No. of Workers recruited in sep inculuding 120 on account of factory expansion
140

What do you mean by absorption and allocation of overhead? State the difference

between allocation and Apportionment.

IUNSHAT o TN I 3T(eleT & TRl AT NI 27 IUNSHAT o e qAT

HIITSH H T <R T30
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Define overheads and give their classification in short note.
IUTCAT <t gieTeT <ISTT qerm SHeht srfieRtor witry o srarsa|

Cost of manufacturing 500 fans is as follow

Matedial 40000 Rs.
Wages 50000Rs.
Factory overheads fixed 10000 Rs.
Variable 10000Rs.

Admirnirtration and selling overheds
(1) fexied 4000Rs.
(il)Variable 2000Rs.

Ascertain the cost of manufacturing 800 Fans

500 9ET ok FATOT ST AT T TR -

el 40000 .
FIEHT IURE (i) e 10000 &.
(ii) ufEdTefier 10000 &,
T U fashd 3uftead
(i) R 4000 &,
(ii) i 2000 &.

What do you mean by ABC anslysis concept? Explain the stages of process of
ABC analysis with imagine examples.

Tt © it STTUTOT T FAT AT 22 39k Fohaa o fafi=T <ot &6t v et
ST & GHET|

What do you mean by Job costing method and contract costing methods state

difference between job costing method and contract costing method.

SUHTH ATNTd 31T SohT AT & STIehT AT YT 22 ITHTH AN I ST AIrTd fafey &
Y 3= SaTg|

What is contract Account? Discuss in brief the various items appearing in debit

sides of contract account.

ST ARTd i fafe & Far Ao 22 T S @Td & Sfee uet hi Wl i | §
qHATSY
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What are different methods of colculationg profit on an incomplete contract explain
it.
Te Y01 3ok R AT o Tiehedd ol forare faferart i 52 wweimsy)

The following is the summarised record as on 31" march,2010 of all tracsctions

relating to contract completed during the year.

31 AT, 2010 T ek 3oh § G -6d GHE] STagRI ol GieTH forator 7 Yo ® <1 gt
ENREIRVRERIRICIE

Material purchased Rs. 3000
Material supplied from stores Rs. 1200
Wages Rs. 4000
Direct Expenses Rs. 500
Material return to stores Rs. 700
Contract price Rs. 15000

Work overhead (50% Direct Wages)

Office overhed (20% Direct Wages)

Prepare the contract account from above particulars.

SUh foraTull o SR W 3T AT ¢ hifs)

From the following information ascertion the ecomomic batch quantity.

T Tt o STTer R T Tg Wi e i Sifs

Monthly alevnand for the product 1000 units setting up and order processing cost
Rs 500 per order.

Define process costing method, Name industries where it is applicable. What is

difference between job and process costing methods.

wisrar @mTa Freafor dfa st afeanym Shifsme) Se & T sargd sier g@ fafer s s
foram ST wrehaT R1 Suehr wd ufshar amra frerfcor Gfeat o sam sfar 22

Explain difference between by product and Joint product. How are they treated in

cost accounts?
3UICUTE o HE 3CUTE § 3l GUATSY| TThaT ANTA § $9ehT 1T TohE TehTX TSRt ST 2
The following details are ausilable in respect of peocessA:-

yfsram A grafeura fferfad foaemor Suctsy 2:-

Inpect 4000 units, output 3800 units.
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Normal loss 100% of input Rexlixble value of serap Rs 2.50j per unit total process
cost Rs 46000 Prepare process A A/C, Noramal loss A/C and gaiv A/C.

TTSRAT ASHT WTAT STHT BTHRIT ohT WA 3T AEHTT S=id ohl @TdT SH1SU)
Propare a statement fo equvivalent production from the following information.

ARG G bl o IcdTaH ohl forator a1y

Input 7600 units output 6000 units work-in-progress at end 1600 units and
complited 100% for material 70% for labour and 60% for overhead.

Define process corting and operation costing. Write short note on “Need of process
costing method”.

Tfskar amTa et Sfa i dfsrn arra Gfa st afenfye Hifse afsmr arma Fafor
A i strarsgerar 1T w@far foaf fafay

State the meaning fo operating costing and write the objectevies of to operating

costing.
qiETe ANTa et A 37ef sy aiETed arTd & e fafag)
Explain the following (i) Hotel cost Accounting
(i1) Power House lost
(ii1) Absolute Ton-km
freferRad = augmsd (i) Eed AT Eie
(if) Torerat 18 =TT R
(iii) TTeyg o ferettefiex

From the following date for the year 2010 prepare a cost sheet showing cost of

electricity generated per unit of kilowatt by chambal thermal power station.

T 2010 © GrIfraa T Tl o SATE O Fvelel A e & ST IcdTied forere =t
§ftt fercttane AmTa eftid #td 8T Tk ANTd 95 daR shifery

200,000 K.Watts
Operating labours Rs 50000
Repairs and maintenance Rs 50000
Lubricants, spares Rs 40000
Plant supervision Rs 30000

Administrative overhead Rs 20000
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Coal consumed per kwt for the year is 2.5 kg (a) Rs 0.2 per kg deprecation (b) 50%
in capital cost Rs 200000.

What do you know about determeuation of cost unit in operating costing explain

units examples.

TN AR HEROT § AN 31 o HERO & a1 H 379 SHd 87 380 ared
HAARY]

Exlain what do you understand by following.

3T frfeTRad & =R wHerd 8, 9wesd)

(1) Sales budget (%F% ES )

(i)  Materials budget (STHIT SIS12)

(iii)  Flexible budget (SNIER S<IT)

Define Budget What are the essentials of an effective bugeting system.

ST oht TR ST Teh STTaTet SIsTe SUTTet o SATasah dedl o7 T &

Define Master budget state Budgetary control main objects.

HIEST ST i TIATIRIA foh ST s1te (23101 o T 3es1 6T Ui Shifey)

Prepare a flexible budget for production level 80% and 100% from the following

information.

frefaifiad gemTstl 3 SR W 80% TAT 100% IdTe &R % fAg SAl=er aste dar

EQIE LY

Production at 50% capacity 5000 units Raw material Rs 80 per unit, Direct labour
Rs 50 per unit, Direct expenses Rs 15 per unit, Factory expenses Rs 50000 of
Which 50% are fixed.

Admimisteation expenses Rs 60000 of which 40% are fixed.

Calcutate efficiency ratio activity ratio and capacity Ratio from the following date.

feforfiad dwent & shrdaerar SAguTa foRaTfieiar STgUTa o &HdT STIATd T Tieher

EQIE LY

Budgeted output 80 units Actual output 75 units
Standard time per unit Actual hours worked
10 hours 600 hours

Define standard costing system and write advantages of standard costing system.

THTT AT AGTR ohl TRTERT HIST) THTT AT A@ieh o At ol faifag)
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What do you mean by standard cost. Give different between budgetary control

system and standard costing systems.

Calculate material cost variance Material price variouce material usage variance

from the following data.

frmfafigd dwert @ @t @erd foreror wnlt ger fomror ameft sEnT foeror w6
Tieher =it

Standard ; 100 kg material for 70 kg Finished product @ Rs 2 per kg
Actuals: output 21000 kg ; material used 28000 kg lost of material Rs 50400

Explain the meaning of fixed overhead vdummn variance and its various

lomponents in terms o output and in terms of standard hours.

feor SufteaT ScqTes AT oo 1 SIS TSy ScqTe Ue YHTT €U2] o JATHR 9
3G Tafs=T Teent shl aTsl

Calculate fixed overhead variances on the bases of monthly information

Standard Actual
Output (units) 10000 10020
No. of Days worked 25 26
Efficiency of lobure 100% 95%
Fixed expeuses 15000 15150

What is zero based budget? Explain various stage of process of zero based budget.

T[T TR SSTe T 82 T[T ST st sht AToraA o Ty =reor -6 9 82
Define zero based budget.Explain Improtance of zero based budget.

[ HTGR TSI i THATIRIT SHITSTC I TR SIS HT Hecd GHeis|

Define cost-benefit analysis. Give difference between traditional budget and zero
based budget.

AT AT foret=ror st afeaTiRia shifSig) TP SIsTed T 3 HTER a9 H 31T
ATy
Write meaning defivation and importance of financial statement analysis.

foreiter foraror farseremor 3 37ef uftwmem wd weed i forfay)

Explain following (a) Balancesheet account (b) Profit and loss account (c)

Financial decision

e s awgmed o) fogr e @I et w)fordt fof
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Write the impostance fo comparative balance sheet analysis and hehat are its

limitations.

qerTeHsh fergr ferereTor sht Hecer ferfae 37 gwsh @ & 2

Why comparative profit and loss account is preopared explain it with illustration.
qCHTCHR SAT-BT T il ST ST RISTE0T adf 5T Tl

What is meant of Retio analysis? Explain its assumptions and limitaims.

STTATA ToIRTOT & T AT 3] FHhT HT=IATE 7R EH1AT 3t s iy

Explain in short the importance of following ratio. (a) liquity ratios (b) curren
Ratio (c) Sales Ratio

TR TaTal shl 7ewl bl GHTEd  37) erdT ST E)ELSE
C ERICRSIEERICERIT

Examine the following information and claulate current ratio.

ffTRad et sht Siter shifSt qeiT =iTe] T 1 shifsT)

Sales (assumed to be all credit) 300000 Rs Gross profit ratio 20% Quick ratio 80,
current liabitites 40000 closing stock 10000 more thre opening stock Inventory

turuves ratio 6 times.

Explain the concept of various profitability Ratios.
AT STATA o ToIf¥=T STeRoT ol T

What is cash flow statement and explain its importance.

Tohe YATE ToIaRuT 3T B 3T 3Heh HExT shi sIREdT shifeTy)

Explain the four sources of cash flow in short note.

e JATE % IR EIdT bl T THATEYY
Explain the method of cash flow statement under direct method.

e vaTe forawor shi Teaer fafy sk awzmed

Calculate the cash how from operationg actuities under direct method from the

following profit and loss account.

et o TR =R we AR wrd @ gea foftr 3 AEn aitere wiiafe | T
BEIEIRER

Trading and Profit and loss a/c

Partieulass Amt(Rs) Paetriculars Amt(Rs)
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To opening stock 10000 By sales 100000

To Purchases 60000 By closing stock 29000
To manufacturing exp. 15000
To wages 7000
+ outstanding 3000 10000
To gross profit 25000
120000 120000

To Administration expenses 20000

By gross profit 25000

To selling exp. 10000 By Rent 8000
To deprocition 12000 By commission 17000
By net loss 30000

To salaries 6000
Add outstanding 2000 8000
To Insurance 15000

(-) propaid 5000 10000
To share issue exp. 20000

80000 80000
Prepare carhflow from following information
Liabilities 31-3-2008  31-3-2009  Assets 31-3-08 31-3-09
Credietoss 25000 27500 Bank 5000 140000
Bill payable 25000 10000 Cash 20000 45000
Provision loan 25000 32500 Debtors 20000
40000
Bank loan - 25000 Stock 30000 25000
Debentures 50000 - Investments- 135000
Profit and loss 100000 175000 Plant 150000

135000
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Share capital 250000 400000 land 200000
125000

Goodiull50000
25000

475000 670000 475000
670000

During the year proposed and paid dividend is Rs 25000
3T 3 S 25000 & T ATHY ST T ST foham|

State the meaning of marginal cost write any advantage of marginal costing.
T AT hT AT FAT83 HHT=T AT Raioh o AT hl SIdTg3)|

What is absorption losting? Differentialte between absorption losting and marginal

losting.
STASIITOT AT AT 2| STATIIOT AT A 1ok T T AT erieh § = sTaTs|
Write short note on “Male or buy” with refereuce to marginal costing.

HHT=d AN QiR o e | SHRIT AT 5hY ST 9T wiery fewguft fafian)

What is brake even chart? State the method it.

qufar=se =I1E 1 8| gHh! forfer sht srargal

State the following (a) PIV Ratio (b) margiv of safety (c) contribution
TR 1 awetsd 1) PIV AU o) et Hia T) 3YeH
From the following caluculate (a) PIV Ratio (b) Break sales (©)
safety

frmfafaa g=aTen @ ufemrr fifs)

(N

) AT ST o) Fforosd  |)EReT HiHT

Sales faIsFT 200 units  a- 50Rs per unit

Fixed cost e 3ufta™  Rs 2000

Variable cost INadTHel AT Rs 30 per unit

The turouer and profits during two periods were as.

1 STt o gwstfeerd forsher it Uiy qer o e Jepm )
period I period II
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sales faspa Rs 500000 750000
profit @ Rs 50000 100000

calculate (i) PIV Ratio (i1) Break even sales (iii) sales required to earn a profit of
Rs 125000

(iv)  profit earned when sales are Rs 350000.

IR ShITSTT: - (i) AT AT AT (i) Eeferss o (iii) 125000 & 3T AT 3AfSiq
T O ST forsha T UM (iv) 350000 & T forshar o 315 B ared @ ot Tfey

What is profit vdumn ratio? What are its uses?

AT HIAT ST T S 756 T TN &2

What is ‘cost estimation for decisision making and explain its scope.
f1ote R AT frerieor </ @ 37 gk & =l erETsy|

Explain various methods of cost estimation.

AnTa et o fafi= fafemt s avsmey

Write short note on 4 determeination of product mine with reference to marginal

losting.
=T AN QiR o ded | Icured sy freftor gt w@ferm feoaoft fefiay)

The derectore of sochie Ltd have submitted the following information regarding its

two products A and b.

gfer fafiree & et T 370 31 3caar Ade B o wwery # frmfafaa gemmd sweqa
FI 2l

Product A Product B
Direct material cost per unit 2000 Rs 1800 Rs
Direct wage cost
Rs per hour per unit 600 Rs 400Rs
Selling price per unit 4000 Rs 3000Rs
Hariable overheads per How IRs 1 Rs

Total pried overhead are Rs 160000 Rs p.a.
You are asked to suggest which of following product mix be adopted for sale.

(a) 100 unit of A and 200 unit of B



69-

70-

71-

72-

73-

(b) 150 unit of A and 150 unit of B
SIATEE sht FATTRad # € i @1 3cuTe fersror forshar & ST ST
(a) 100 unit of A and 200 unit of B

R

(b) 150 unit of A and 150 unit of B

Explain the following concepts (a) Producion shut down (b) Export (c)
Descounted cash flow.

frafoifad sy R aHETE 37) ST I BT A)FAT HET )

IYARIT ke JITE

Explain the cost estimation for dicidion making process with illustrtornes or

oxamples.
amTa sArenfed oty & fore ot wferar awzmen

The management of a company is to diricde to aecept an export order for 1000 per

month (a) Rs 70 per will Its presen position as follow.

Teh HFIT o Ta=¥T SRl 70 & Tfd 3RS UX 1000 SRTSAT AT 21 4ok IaA fEerfd 38 Tehr
2l

Producion capacity 4000 unit per month
Presenst sales 3000 unit per month
Selling price per unit Rs 100

Total cost Rs 80

Fixed cost Rs 60000 per month

Additional slupping expense Rs 4000

Do you advice the proposal to be accepted?

T 9 T <d fon gedma Eiehr s+t foram s

State the assemptiones and limitations of break even analysis.
T -for=esg farscrRIoT i AT=aml SR diTe &l Jarsy)

State the mening of fixed cost variable lost and semi variable cost with help of

examples.
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TR AT TiEdTHIT AFTA 31K 3715, TREdHI AR o 37 3l SATEN oh! TETIar o
HHATRY|
Marginal losting is an aid for managerial decisions explain.

AT AT SrEieh Jaeaehta ol § gere 2

The following figures are presented before you.

AT e PR T e RT3
Year Sales Profit loss

2009 Rs 100000  Rs 10000(loss)
2010 Rs 400000  Rs 50000(profit)

Calcutate the following

(Fe=ferRaa &1 uftere shifsg )

(a) PIV Ratio (ATH-HTAT SJUTd)

(b) Break even point (ATHTATH %Ir_g)

(c) Precentage of variable lost to sales (ﬁﬁﬂmwﬁﬂﬁﬂﬁ)

What is meaning of ‘Angle of Incidence in a Break even chart?

Teh GHI=De <1 | THTS &35 hI0 § T AR 32

fraeerTenss 921 (Essay type Questions)

1-

What are cost account? In what way their preparation is helpful to a large

manufacturing coucern.
AT TG T 82 FhT AT LT Ueh aie] ol dee & T v Jerr o grar 872

What is mean by cost accounting? Explain briefly the object and advantages of cost

accounting.

AN TREToh © 3119 T GHd 22 AT AG iR o I T ATH hl Gid § Jui

EQIE LY

What do you understand by mechanisation of cost accounting? Also explain its

advantages and limitations.
AT T ok AR & 1T T THET 22 6k T v Tfimreti s off s

What are object of cost accounting? Differentiate between financial accounting and

cost accounting and cost accounting.

AN iR o 38 T RIfaf <@t T g i@ § 3ia¥ Sia1sy)
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Explain procedure to install a costing system and give the different techniques of
costing and explain them.

ANTT TG TUITAT TATIU SRt shl TRt ohl THEITS| iedaTen shi farf=T afafert
AT 3TN 37! YA

What is cost accountancy explain the cost accountancy nature and scope.
AN TIETST T 2[R TGS shi Tehid T &1 ol SdTsy)
What do you mean by cost? Explain dearly different elements of cost.

AN O R ATI 22 ATTd o fafir= deat st wve forfsg)

Describe between direct expenses and Indirect expenses. What types of expense are

include in the direct expenses.

TcIeT oI qAT STYHET I H 3T IAATST| TcH&T oI o ST (ohE YhR o 39

gitaford for ST 82

What is mesnt by material control? Why is it considered an important part in lost

accounting system.
[Tt RO & T AT €2 ARG i@ish 1 I8 Toh Hecaqul 31T T SHET SITT 82

What are the object of material control? State brief the various methods for pricing

the issue of material and explain .

qrEt forRretor o e 3 2 |t e werien o fafv faferart o1 wifers st
difsr

Write short notes on

wferw feooft fafiay

(1) Maximum stock level (TR Tieh &)

(i)  Minimum stock level (=ITqH T &N)

(iii))  Re-order level (T AT &)

(iv)  Material turnover (|9 AT )

(v)  Economic order quantity  (3TTSY HTT)

What do you mean by labour turnover? Discuses the various methods of its
measurement and explain what is the import of labour turnover on working of a

manufacturing concern.
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o7 forehTelt © 1T T TR 22 39 AT <t farfirT bt o sared ue s fmioft ween
o i Tt oht ST ue Uen il e ot et I om e o1
TS Tl 2 7HAEATE|

Distinguish the following.

frfeTRad # e sramsa

(1) Derect wages and Inderiect wages (Ycd&1 U 3T & qﬂ?ﬁ)

(i)  Idle time and overtime (FRIEIT THT U SATrEHT )

(iii)  Idle time and ideal time (FTIE THT TS ATEY G0 )

(iv)  Job card and time card (T U TS TH UAF)

You have been asked to calculate the following levels from the information.

FAfTRad STt & STTaehi forf¥= &l T Tkt T 2
(a) Recordering level (I AR M)

(b) Minimum level (W@WW)
(c) Average stock level (3ﬁ“él?f Teh &)

Reordering quantity is to be calculated from the following data.

g:rl \?ﬂﬁq HTAT <kl qi\{°hc’1"| ﬁl-"l HHehl a? WWW%|

(i) Total cost of purchase relating to the order Rs 20

(ii) Number of unit to be purchased during the year 5000

(i) ~ Purchase price per unit including transfortation costs Rs 50

(iv)  Annual lost of storage of one unit 10% of cost

(v) Lead time Average 10 days maximum 15 days minimum 6 days.

(vi)  Conscmtion rate :-Average 15 unit a day maximum 20 unit a day, minimum

10 unit a day
Calculate the following the information given below.
e & g g & frefafaa I fifsg
(a) Reorder quantity (3T|'f§j$ AN EIEL)

(b) Re-order level (‘flﬁ:iﬂ:l'l%{q M)
(c) Maximum stock (\’ﬂﬁl?m'_cl'q )
(d) Minimum stock (<IdH )
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(e) Average stock  (37Ed &I )

w (a) Total cost of purchase Rs 40 per order

(b) Purchase during the year 10000 units

(c) Purchase price Rs 100 per unit

(d) Slorage cost Rs 5 per unit per year

(e) Re order period :Averge 20 days maximum 30 days minimum 12 days

() Consumption: Average 30 unit per day maximum 40 units per day minimum 20
per day.

Wage Rate Rs 30 per hour standard time 6 hour and actual taken 4 hour. Ascertain

the amount of bonus and total amount of wage earued under Rown plan.

feAfiveh 2T 30 & W 02T AT TH 6 0 Aok Sh TH 4 02| 3T T oh TR
TS AISHT 6 =TI s hT UMY T et Tieenfien i qiteher shifsg)

Explain and illustrate the classification of overheads according to function

variability comtrollabitity.
SUTERAT T STR0T FHRITTER TS IAAITER FRISUTTER qeT HTHTIATTEI SETeT0T
T TR & g
Distinguish between
(AT THATS)
(a) Lost classification and lost allocation
AT ST AT AT s
(b) Cost allocation and overhead apportionment
AT TS AT SURIT ITIH
(c) Cariage Inward and carriage outward
T TET ATET 3R ST el HIeT

Explain the different methods of absorption of factory overheads give demerit of
each method.

FHREHT U o STS0T shi s fafert o1 aaemsw g fofr o g saasy

An engeneering conaern is divided into 4 departments A,B,C are produeing
departments and D is serving department. The actiral cost for peroced are as

follow:-

Teh S-S g 4 fovmm & e 8-A,B,C Scdted fasmT 2 qerm D Qar favmr 2)
Teh 37T § GraIfeerd SrEdioreh dAnTd {3 IR 2|
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Rs Rs

Rent 2000 Power 1800
Repairs to plant 1200 Supervision 3000
Depreciation 900 Fire Insurance 1000
Lighting 800 Workmen’s Insurance 300

The following information is available in respect of 4 departments.

T A T @ grafaa e gEeT Saerey 2

Deptt A Deptt B Deptt C Deptt D

Arla in sq. 150 110 90 50
Kilowatt hours 2400 1800 1200 600
No. of employees 20 15 10 5
Total wages (Rs) 6000 4000 3000 2000
Value of plants (Rs) 24000 18000 12000 6000
Value of stocks (Rs) 15000 9000 6000 -

Apportion the cost for various department on the most equitable basis and re-
apportion the expenses of service department D, in the ratw fo 4:3:3

FEATTEA ST I ATTAT 6T AT T H STTWISH ShITST) qT & T o =&t 1
4:3:3 o STATA H I SwTSH iy

From the following particulare compute direct labour rate of manufacturing

department.

we famtf} faam o grafrua Feafafaa faawon @ yeaer gm gver <t st uferas fifsig)
No. of works: 50

Working days in month :25 of 8 hour each
Idle hours in month : 40 for each worker (50% of which may be treated as normal)

Factory overhead do for the month were Rs
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24-

25-

26-

27-

Rent 25000

Lighting and heating 400
Supervision 4000
Sunday supplies 1000
Plant depreciation 900
Miscellaneous Expenses 2000

What is ABC actuity concept? Explain the stage in ABC concept.
T ff €t STy R 21 U sl €Y o ST o =T i 9HEEy|

Write the Important benefits and limitations of actuity based costing.
T ff € AT & Heed, 1Y 3T A ot fetfay

What is meant by ‘contract losting Method’. Where is it used? Discuss in brief the
various items appearing in debit and credit sides of contract.

T ANTA Feior T & 1 AT 1 T8 FHal | § T8 STl 843 | Th 3l @Id &
TTH AT STHT 987§ 31 Iredt fafir oei ol 989 § 99esa|

What is contract account? How it is prepared? Give a specimen of such account

using imaginary figures.

ST T ohEl FEd 87 I8 ¥l SIHTAT STTT &2 hIeH e HHeh! T ST d B¢ 36 HM
<pl Uch IT&Y gifsru)
Distinguish between job costing and contract losting? State the special features of

contract costing.

IR AT HLTOT 3 SohT ANTa ferfor 7 S1=ax aqemsd eht arTg et fafer s
forreT ceqoT <A1 Ui HifS)

Renu Bros undertook a contract for a price of Rs 5000000 which was commenced
on 1" Jan 2010. During the year work was cirtified for value of Rs 100000 of which

75% received in cash. The following information is available.

T SEH 7 500000 & H T ST [T ISTereht Sl 1 SiHerT 2010 shi SR foraT| 36 ot
100000 & =T T THIOTT §HT FSreehT 75% STH &1 T AT - {ctRad F=HT 3ucisy &l

Rs Rs
Materials issued 60000 Indirect expenses 10000
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H

29-

30-

31-

Labour incurred 40000 Wages accrued
4000

Plant issued 20000 Plant at side 18000
Direct expenses 16000 Work uncertified 20000
Prepare the contract account (%GFT@I?IT ERIEU)

The following information has been obtained from the casting records of a man

facturing concern in respect of tab job No. 128

T [0 ST o ANTa ol | Sier 128 o avarey | fmforfiad e Sucisy s 18

Material (FT):  Rs 6900
Wage (#1H) :- Department A 120 Hours @ Rs 2 per hours
Department B 80 Hours @ Rs 3 per hours

Department C 40 Hours @ Rs 4 per hours
Variable overheads (Wﬁaﬁqﬁﬁasa?:r) estimated
Deptt A Rs 8000 for 2000 direct labour Hours
Deptt B Rs 6000 for 2000 direct labour Hours
Deptt C Rs 2000 for 1000 direct labour Hours
Fixed overhead (&2 39%) estimated Rs 20000 for 10000 Aorwal working hours

Calculate the lost of Job No 128 and find out prices to be charged so as to earn
frofit of 25% on selling price

U HEAT 128 shT AT hT Tt hITSTT T Tofshdl Hed W 25% AT TSI o &
RS ICERCIUCISIEREIEEISIRRCRSIEY

Explin normal wartage abnormal wastage and effectenes how should these be dealt

in process cost accounts?

T & ST & Ud STHHT S<0d ol GHea? Ik AT o | $9ehT il
forer SeRTe fomaT StraT 22

Explain the difference between joint product and by product. How are they treated

1n cost accounts?

3UICTTE U8 3UTE H T THSATSY| TTehaT ANTA H ST oGl TohE Yok Rt STTaT 21

What do you mean by process losting? Explain its important. To Which industrial
is this method applicable.
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gishan et freaftor fafer & o1 o= smer 213Ut Heca awesy) 98 fofy fore g &
JET H A Bl 2

Explain the meaning fo ‘Equivalent production’ with reference to vatuation of

work-in process in process costing.

SITShAT AT Teieh H AU § HIeT 3 Hodieh o Tav H THIed 3c1e
ST TS|

The following details are available in respect process A

gfsram A 8 grsrfeud feferfiaa foaor suasy 2

Input 4000 unit output 3800 units. Normal loss 10% of input realisable value of
scrap Rs 2.50 per unit total process cost Rs 46000 prepare process A A/C normal

loss A/C and abnormal gain a/c.

The following detail are given in respect of process B. Calculate equivalent

produation and valuate work in progess.

freferfieaa feraror wfshan B & wwatf-ard 21 qox 3cdTa T dieher qoT =] 1l (Work-
in-progess) T Hed e HIfSIY]

Input 2000 units Tranferred to next process 1800 units closing work in progress
200 unit (completed 100% for material 15% for labour and 50% for overhead)

Process cost Material Rs 40000 labour Rs 27300 overhead Rs 13300.

What is meant by operating costing? In which industries it used? Prepare a

transport operating sheet and discuss the various items included in it.

TG AT Heier Gfa & o AT B I for-fort e & S19HTE STt 270
AT U= AN 95T d¥R ShifST 9T 36H HitATTd Ael shl 9HTSd|

Explain the following (ﬁﬂ%’f\@ﬁ Eal Wﬁﬁ)

(i)  Hotel cost accounting (8I&cT ANTd AGh)

(i) Power house cost accounting (ﬁ%ﬂ g ?1’@17*_'[)

(i)  Hospital cost account (FIfehcaT ATTA TiEieh)
(iv)  Transport cost (ANEET AATT)
(v)  Absdute Ton-km (FRYg 2 foretieier)

From the following data relating to two different vechiles A and b compute the cost

per running mile.

| N N e

I ATE A 3R B i Wi At gitemer Anrd feferRad gemmel o SATER o 1 shifeg
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Mileage run (annual)
Cost of vehicle

Road licence(annual)
Insurance (annual)
Garage Rent (annual)
Superlision

Drikers Wage per hour

Cost of fuel gallon

Repairs and maintenance per mile 1.6Rs

Miles Run per gallon
Types allocation per mile

Estemated life of vechicle

The vehicle run 20 miles per hour on an average.

Vehicle A
15000
25000
750

700

600

1200

3Rs

3Rs

20 miles

.80Rs

400000 mile

e 3ead Tt 20 Hiet gfe guer R

From the following data relating to Chambal thermal power stations baran compute

the power cost per unit from it prepar cost sheet.

Vehicle B
6000
15000
750
500
500
1200
3Rs
3Rs
2.00Rs
15miles
.60Rs
75000 mile

Teh o1 o o =Tt oo oTar o ST Iedtied «:Tfh ol SIfer 31ehs mTd 1 i o
feT gveRt @ AT foemor e hif)

Total unit generated

Operating labour
Repaiers and maintenance
Lubricants

Plant superuison

Advnineteatrom overheads

2000000 KwH
Rs

50000

50000

40000

30000

20000

War consumed per kwh for the year 2.5 kg@ Rs 0.02 per kg

Depreciation 5% on captal cost of Rs 200000
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Define Budget and Budgetary control state the advantages and limitation of
Budgetary control in an organisation.

Tl QT STttt firoT Y afarem SSTe qerm wes wire o sreredl frizr & o ud
13T &1 Ui ity

What are different types of budget? State objective of Budgetary control.

SoTE o FarfiTeT Tehm oRIT B1aTsTed] RIT0T o ST Sl ohT Ui shiTeTa?

What is the signification of budgetary control in the accounting for cost? specity

the steps you world take for installing a budgetary control system.

TTRTA 2T T L SISTed] w107 <61 o1 Weeel 2] Ueh srsted] (=i=10r Jurreft ] s 89
3TT ST SheH 33T IR 3ol hifSy)

Define Budget as used in the business what are the essentials of an effective
budgcting system.

SSER H TITh SSfE 378 i TRTRIT A Toh THTerTeft ssfe JomTedt o ATessh ded
T2

The following are the estimated expenses budgeted for an output of 10000 unit in

factory.

T B H 10000 3HTEAT o6 IcUTE o (7T STATHA SI91e 4 = T &)

Per unit (Rs)
Materials (STHIT) 140
Labour (3) 50
Direct Expenses (Jcd&f sJ) 10
Factory overhead (FTG@THT 3UNT) -
Hireable (Ifad-efiet ) 40
Administrative expense (EN'I’FIﬁEF ) 10
Selling overhead (%l?h'q U ) - 10% fixed 20
Distribution overheads (foraor IufteRT) - 20% fixed 10
Total cost 300

Prepare a budget for for Production of 8000 unit and 6000 units
800 AT 6000 FHTEAT ok ICATE T SISTE 2T HHTIT SHITSTT]

Draw up a flexible budget for overhead expenses on the bases of the following

data and determine the overhead rate at 70% , 80% of and 90% plant capacity.



frifend gwent o TR WX Uit o fou Aieier siste sHTEd a2 70% 9 90%

FHrlewar W ufen it @ fuifa il
70% capacity 80% capacity 90%
capacity
(Rs) (Rs) (Rs)

Variable overheads -
Indirect labour - 12000 -

Stores including spares - 4000 -

Semi-variable overheads
Power (30% fixed,70% varianble)- 20000 -
Repairs and maintenance 2000

(60% fixed, 40% variable)

Fixed overheads

Depreciation - 11000 -
Insurance - 3000 -
Salaries - 10000 -
Estimated direct labour hours - 124000 -

Discuss the application advantages and limitation ot the technique of standard

losting.
THTT AT AG iR TTaTer o TN AT Te ST o7 forae shifsig)

Define and explain standard costing costing. What are different types of standards

them.

THTT ARTT iE@ieh bl TRTIRT ShISTT 37T gaent 371ef gaeea| vl o forferr yerm s
HEEEIED]

What is meant by the tram variance analysis? Describe briefly the variances

relating to direct material and direct labour.
foreroT forscreTor & T ST 22 Sreaer ATt 3 e o ot o dard § 9 i)

Define standard costing. Explain the difference between standard costing and

budgetary control.
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THTT AT AG iR ohl TRTRT SHS) THT ATd SEich T ssted] f3==r 7§ aFat ot
BEEIED]

A chemical industry provide the following information for making 10 unit of

chemical.

e T IR g foIfiree Tam o 3cdted =l 10 3ersat o forg feferRad = weqa
el

Material A, 8 kgs @ Rs 6 per kg
Material B 4 kgs @ Rs 4 per kg

During the month of April, 1000 unit of chemical was produced for which actual

consumption war an under.

YA HIE oh SITF 38 TR shl 1000 3h1eAT o1 107 forarm i foreeh forg ameaforen

U YR 9T:-

Material A 750 kgs @ Rs 7 per kg
Material B 500 kgs @ Rs 5 per kg
Calculate all possible material variances

GHET GrTTerd AT foremont sht aitehad ity

Calculate material cost variance and avalyse the same by causes from the following
data:-

frfafaa guent @ amfl Arra ferear T ShifSTT qeim SHeRT faseeToT 3T=aX & Rl &
TR T HIS

(1) Standard material quantity per unit 2 kg

(i)  Standard rate of material per kg Rs 5
(i11))  Actual stock of Raw material Rs 4800
(iv)  Closing stock of Raw material 200 kg

(v)  Actual usage per unit of ortick produce 2.5 kg

(vi)  Actual output during the period 240

Explain the concept, meaning Importance and limitations of zero based budgeting.
[ TR ST ol STTHRUI, 37, Weed {1 HHTS! i THETsy)

Explain the process of zero based budgeting system in detail.

3] AT SSTe sht TishaT ohi FedR & §Heisy
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Write meaning definition and importance of financial statement analysis.
forferar feraror ferscreTor <A1 37ef wfcmeT we weed fafay

Explain the technique of financial statement analysis in detail.

qerTer farfrer feremor ferscreTor <t debefie ot foream & wrwemmsa

What do you mean by commonsize statement.

GATTRT fIewoT fasaAsror 8 3179 SR 99ed 81 TR foreoT forseieTor o JehRl ohl
HHATRY|

What is Ratio analysis? Write objectives assumption and limitation of Ratio
analysis.

HUT ToTSCIRIOT AT 87 38k IS HIIATY SN EiHTet ! fetflag)

Explain the following ratios.

(i) Net open profit ratio

(ii) Iurvoves ratio or activing Ratios
(i)  Liquidoty ratio

(iv)  Earning per share

frefafaa STt =i T

(i) A CIKERSICICERIN

Gi)  Toramdierar s1gaTd

(i) QT AT

(iv) ClTHGMendl 3H-Yld
Al

(v) O3

Comute the stocks turnover ratio with the help of following fignres.
T foraon ot HeTIdT & wFaey ST TATd 1 [T

Trading account

For the year ending 31 march, 2006

Rs Rs
To opening stock 15920 By sales 78000
Do purchases 39000 By closing stock 14400

To carriage Inward 1000




To gross profint 36480

92400 92400
59-  Calculate current assets from the following.
frfafaa & =] wwafoat J1a e
Stock turnover = 5 times
Sales (all credit) = Rs 400000
Rate of gross profit = 25% on cost
Current liabilities = Rs 120000
Acid test ratio = Rs 0.75
Closing stock is Rs 10000 more than the stock at the beginning
HAfqT TheeT 10000 & F T4 3FTd Thee] T SATET 2
60-  What is each flow statement? Discuss its main uses and limitations.
ke YaTe Torsei=Tor R B SEeht SUATaT T HH1=AT ohl FdT8Y)
61-  What is cash flow? Explain the operating actives, Investing activities and financing
acivities under cash flow.
Uehe AR T &7 Tl Tohamatt fafeas fsramear it foramett st av=msy
62-  Explain direct and indirect method for preparing of cashflow statement with the
help of imaginary figures.
STk EHehT h! HETIAT § Tohe U Tehg JaTe fofaur qIT St sl TeTed T STeed
fafer =t wwmme
63-  Balancesheet and Income statement of ABC Ltd for the year ended 31* dec 2006.
e w ot i ferfiree s e @ e fog i e & 2
liabilities 31-3-05 31-3-06 Assets 05 06
Rs Rs Rs Rs
Equity share 14000 24000 Fixed assets at cost 20000 24000
P&L A/C 7000 9600 (-) depreciation 4000 8000
Debentures 20000 20000 cash 16000 20000
Trade creditor 14000 12000  stock 14000 16000
Debtors 7000 12000
Prepaid Insurances 2000 1600
55000 65600 55000 65600
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Income statement for the year 05-06

(Rs) (Rs)
Sales Revenue 84000
Less: cost of goods sold 48000
Depreciation 4000
Interest 6000
Other expenses 22000
Income tax paid 1400 81400
Net profit 2600
Prepare cashflow statement from the following information.
frrforRed gaem | JIdbs JarE a8y |
liabilities 31-3-05 31-3-06 Assets 05 06
Equity capital 30000 350000 Land and Buiding 230000 [ 390000
Plant and machinery 85400 | 140000
Securities premiumy - 30000 Furniture 5500 6500
General Reserue (45000 65000 stock 82400 95700
Profit loss 30000 80800 sundry Debtors 75000 85500
14% debenture - 70000 Bank Balance 34200 44300
Sundry creditors {85000 90700
Proivsion for tax |22500 40500
Proposed Dividend30000 35000
512000 762000 512000 | 762000
Additional Information:-
Rs
(1) Depreciation Written off
land and building 6000
plant and machinery 50000
furniture 1200

What is meant of marginal cost and marginal costing. Describe its importance and

limitations.

T AT T HHT= AT @R ShT ST THTSY | SEeh! SUANTAT Teh EHTAT o

Juig Fifsr)
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Differentiate between marginal costing and absorption costing. How is marginal
cost statement prepared?

T AT REiehd AT ATV AT Rdiehd § T 3Tt 272 AT AnTd femor o
fore TR AT foraT STTaT 22

Explain the meaning of product mix. What factors are to be taken into

consideration while chosing the best product mixe?

IcqTE THOT § ST AT GHEd 2] GaiH IcdTe Tl ST = shd gHY fo-foRe dealt ot
ST § TEHT 22

What is break even point. Write its assumptions and importance in detail.

g foreese foivg o &, 38eh! AT=IaTd 371 Heed shi feifay

Explain the meaning and uses of the following in relation to marginal costing.

HHT=d ANTd Qi o ey | fAmferfiad & il v 39 gaemed|
(a) Breakeven point ('FIW%!@E)

(b) PIV Ratio (I 3TIUT)

(c) Angle of Incidence (‘éi?’iﬁ‘TEIo"fﬁﬂT)

(d) Key factors (HT =Ieeh)

Following data are given to you

o ey .
SHYenl [HEAllehd HdHeon SYled %

Selling price per unit (]%IEFJ i EI'\%TSW) Rs 100

Direct materials lost per unit Rs 27

Direct wage per unit Rs 20

Fixed overheads Rs 95000

Variable overheads = 50% of Direct wage
Trade discount (SATATHH STET) 50%
You are required to find out (33|TCIT>ﬁ SITHER?T%)

(1) Profit volumn Ratio (ITH-ATAT 3TJ4T)
(i)  Variable lost Ratio (TREq-TSIT AT ST
(iii))  Break even sales (W-Iécéa forspar )
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(iv)  Margin fo safety and net profit if sales are 10% and 20% above the break
even volymne.
(T En forsee 7 W Torsha 10% T 20% 31fersh g1 ol Feett € us fogg wel
T M)

(v)  Required sales to even a profit of Rs 44000
(44000 F. T AT HHA oh [T ATTTF forsh 1Y)
(vi)  Profit when the sales are Rs 300000
(300000 T F farfsh ox omy Y i)

A company has fixed expenses of Rs 90000 with sales at Rs 300000 and a profit of
Rs 60000 calculate PIV Ratio. If in the next period the company suffered a loss of
Rs 30000 calculate the sales volume.What it margin of safty for profit of Rs
900007

Te ST o TR =1 90000 & frsha 300000 & T AT 60000 & 8| ATH-HEAT AT
T TTeher ShIfe) 2t STt S1afer § eat 1 30000 & T 71 5% < ar forsker A
T IS 90000 T 3T AT JISIT Lt I GReaT | foheT B

Following particulars relate to manufacturing factory for the month of march 2010.

AfeARad forawor 2010 93t % |77 |18 % fofw uens fAmiolt 3= & grefyd 2:-

Variable cost per unit Rs 30
Fixed expenses 108000
Selling price per unit 40

(a) Calculate PIV Ratio and break even point
(AT SFUTd Ul Foferees feig sht aieher shifery )

(b) What should be selling price per unit it the break even point is to be brought
down to 6000 unit?

(e T formg 6000 SRS TR & ST KT 81 a1 o b STl SobS fersh fofa
IERIURERIIS ICIRCIIT

What is meant by cost estimation? Describe its scope in decision making.

AT frerieor & R AR 82 Sk & ol JIdTy




